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[Fig03] MoTs & SFRs 4 discussion || K0888 0.3.6 d13¢512 w/base Bzca6l || FWHM=0.5dex ; AR=1.0 pix || UGC12127

SDSS stamp

LS
> 7S

v, »
LT g

I EEEEEEEEEEEEy

oo . oo . +

nuc
<=0.5 HLR []
<=1.0 HLR
> 1.0 HLR
tot

integrated

log t [yr]

05 MoT = M(<t)/t [M , /yr]

.

4
2 ~

25 4 T T

o e

1.6

0.25
0.20
0.15
0.10
0.05
0.025
0.020
0.015
0.010
0.005

0.045
0.040
0.035
0.030
0.025
0.020
0.015
0.010
0.005

0.045

0.040
0.035
0.030
0.025
0.020
0.015
0.010

MoT-SD = M(<t)/t/A [M , /yr/kpc* ]

MoT(t) / MoT(c0)

r T T T
_| Asari+07 SFR—SD(t)l : .

P Sy U Y  € 3

2.0
1.5
1.0
0.5
0.0

0.005 |t-"

D
!

S TN RN NN can)
I




